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QUESTION 1

What kind of fallout scenario might occur during communication between OSM and a downstream system that should
eventually be resolved by simply retrying the communication?

A. invalid message request sent to the downstream system
B. network connectivity error

C. failure due to slow downstream system processing

D. internal downstream system application error

E. unsupported business process requests

Correct Answer: A

Reference: https://docs.oracle.com/cd/E49155_01/doc.73/e49705/mdl_ord_fall. tm#OSMMG947

QUESTION 2

Identify two fallout scenarios that originate during communication between OSM and another system and that could
simply be resolved by retrying the failed communication.

A. failures caused due to network outage

B. failures caused due to down time in an external system

C. failures due to inconsistencies in product catalog configuration

D. failures that originate due to inconsistent data provided by northbound systems
E. failures that originate due to inconsistent data returned from southbound systems

Correct Answer: CD

QUESTION 3

Which two systems are included with OSM within the Rapid Service Design and Order Delivery (RSDOD) solution?
A. CRM system

B. trouble ticket system

C. network discovery system

D. activation system

E. services inventory system

Correct Answer: AB
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QUESTION 4

You have the following process and subprocess configured in your OSM cartridge. The compensation strategy when a
task needs to be re-evaluated is set to "Undo then Redo" for TaskB and "Redo" for all other tasks. On the other hand,
the compensation strategy when a task is no longer required is set to "Undo" for all tasks. OSM has just completed the
execution of TaskD when a revision is submitted, which causes all tasks to be re-evaluated. Which two tasks will be
executed with the Undo execution mode?
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A. TaskA
B. TaskB
C. TaskC
D. TaskD
E. TaskE

Correct Answer: BD

QUESTION 5

Which three statements are true about the functionality of composition rules in an Order Item Fulfillment State
Composition Rule Set?
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A. You can aggregate to a composite state when multiple conditions are met.

B. You can aggregate to a composite state when one of multiple conditions is not met.

C. You can aggregate to a composite state when at least one child order item does not have a defined fulfillment state.
D. You can aggregate to a composite state when at least one child order item has a defined fulfillment state.

E. You can aggregate to a composite state when the order components of all order items have a defined fulfillment
state.

Correct Answer: ACE
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